

GENERALIZED BINOMIAL COEFFICIENTS ASSOCIATED
WITH COMPLEX ZONAL POLYNOMIALS

Francisco José Caro¹, Daya K. Nagar² §

^{1,2}Departamento de Matemáticas

Universidad de Antioquia

Calle 67, No. 53-108, Medellín, COLOMBIA

¹e-mail: fjcaro@matematicas.udea.edu.co

²e-mail: nagar@matematicas.udea.edu.co

Abstract: The generalized binomial coefficient $\binom{\lambda}{\kappa}$ associated with complex zonal polynomials $\tilde{C}_\kappa(X)$ is defined as the coefficient of $\tilde{C}_\kappa(X)/\tilde{C}_\kappa(I_m)$ in the complex binomial expansion

$$\frac{\tilde{C}_\lambda(I_m + X)}{\tilde{C}_\lambda(I_m)} = \sum_{k=0}^l \sum_{\kappa} \binom{\lambda}{\kappa} \frac{\tilde{C}_\kappa(X)}{\tilde{C}_\kappa(I_m)}.$$

In this article we have derived several results which facilitate computations of these coefficients.

AMS Subject Classification: 62E15, 60E05

Key Words: Hermitian matrix, generalized binomial coefficients, linear group, zonal polynomials

1. Introduction

In multivariate statistical analysis based on the multivariate normal distribution, many of the distributional results of random matrices are often derived in terms of functions of matrix arguments. Constantine [2] gave the power series representation of hypergeometric functions of matrix arguments in series involving zonal polynomials. The theory of zonal polynomials was developed in a series of papers by A.T. James and A.G. Constantine. For applications and

Received: June 28, 2006

© 2006, Academic Publications Ltd.

§Correspondence author

properties of zonal polynomials and functions of matrix arguments the reader is referred to Muirhead [11] and Gupta and Nagar [5].

The statistical analysis based on the complex multivariate normal distribution has been developed as counterpart of the classical statistical analysis based on the real multivariate normal distribution. To deal with the distributional problems of the complex random matrices necessary tools such as the zonal polynomials, generalized hypergeometric functions, Laguerre polynomials, generalized Hayakawa polynomials etc. of Hermitian matrix argument have also been defined and studied. For example, see, Chikuse [1], Farrell [3, 4], Hayakawa [6, 7], James [8], Khatri [9], Smith and Gao [12] and Takemura [13].

Let X be an $m \times m$ Hermitian matrix and let $\lambda = (l_1, \dots, l_m)$ $l_1 \geq \dots \geq l_m \geq 0$ and $\kappa = (k_1, \dots, k_m)$, $k_1 \geq \dots \geq k_m \geq 0$ be partitions of the integers l and k , respectively ($k \leq l$). The generalized binomial coefficient $\binom{\lambda}{\kappa}$ associated with complex zonal polynomials $\tilde{C}_\kappa(X)$ is defined as the coefficient of $\tilde{C}_\kappa(X)/\tilde{C}_\kappa(I_m)$ in the complex binomial expansion

$$\frac{\tilde{C}_\lambda(I_m + X)}{\tilde{C}_\lambda(I_m)} = \sum_{k=0}^l \sum_{\kappa} \binom{\lambda}{\kappa} \frac{\tilde{C}_\kappa(X)}{\tilde{C}_\kappa(I_m)}. \tag{1}$$

These coefficients occur in the non-central distribution of Hotelling’s generalized T^2 statistic and in certain moments derived from the non-central means distribution (Muirhead [10]). In this article, we will give expressions for the generalized binomial coefficient $\binom{\lambda}{\kappa}$.

2. Generalized Binomial Coefficients

Let x_1, \dots, x_m be the latent roots of the Hermitian matrix X , $E = \sum_{i=1}^m x_i \frac{\partial}{\partial x_i}$ and $\epsilon = \sum_{i=1}^m \frac{\partial}{\partial x_i}$. Then, Chikuse [1] showed that

$$E\tilde{C}_\kappa(X) = k\tilde{C}_\kappa(X), \tag{2}$$

$$\epsilon \left[\frac{\tilde{C}_\kappa(X)}{\tilde{C}_\kappa(I_m)} \right] = \sum_{i=1}^m \binom{\kappa}{\kappa^{(i)}} \frac{\tilde{C}_{\kappa^{(i)}}(X)}{\tilde{C}_{\kappa^{(i)}}(I_m)}, \tag{3}$$

where corresponding to the partition $\kappa = (k_1, k_2, \dots)$ of k , the partitions κ_i and $\kappa^{(i)}$ are defined as $\kappa_i = (k_1, \dots, k_{i-1}, k_i + 1, k_{i+1}, \dots)$, $i = 1, 2, \dots$, and $\kappa^{(i)} = (k_1, \dots, k_{i-1}, k_i - 1, k_{i+1}, \dots)$, $i = 1, 2, \dots$, respectively. Note that the partitions κ_i and $\kappa^{(i)}$ are well defined whenever they are admissible, i.e., so long

as the parts are in non increasing order. Further, using above and several other results, Chikuse [1] has shown that for an $m \times m$ Hermitian matrix X ,

$$\sum_{i=1}^m \binom{\kappa_i}{\kappa} \tilde{C}_{\kappa_i}(X) = (k + 1)(\text{tr } X) \tilde{C}_{\kappa}(X) \tag{4}$$

and

$$\frac{1}{k + 1} \sum_{i=1}^m \binom{\kappa_i}{\kappa} [k_i - (i - 1)] \tilde{C}_{\kappa_i}(X) = \gamma_X \tilde{C}_{\kappa}(X), \tag{5}$$

where $\gamma_X = \sum_{i=1}^m x_i^2 \frac{\partial}{\partial x_i}$. Substituting $X = I_m$ in (4) and (5) and simplifying the resulting expression, we obtain

$$\sum_{i=1}^m \binom{\kappa_i}{\kappa} \tilde{C}_{\kappa_i}(I_m) = m(k + 1) \tilde{C}_{\kappa}(I_m) \tag{6}$$

and

$$\sum_i \binom{\kappa_i}{\kappa} [k_i - (i - 1)] \tilde{C}_{\kappa_i}(I_m) = k(k + 1) \tilde{C}_{\kappa}(I_m). \tag{7}$$

From Khatri [9, Lemma 1], the zonal polynomial $\tilde{C}_{\kappa}(I_m)$ is given as

$$\tilde{C}_{\kappa}(I_m) = \frac{[\chi_{[\kappa]}(1)]^2 [m]_{\kappa}}{k!}, \tag{8}$$

where $\chi_{[\kappa]}(1)$ is the dimension of the representation $[\kappa]$ of the symmetric group given by

$$\chi_{[\kappa]}(1) = \frac{k! \prod_{i < j}^m (k_i - k_j - i + j)}{\prod_{i=1}^m (k_i + m - i)!}, \tag{9}$$

and the complex multivariate hypergeometric coefficient $[a]_{\kappa}$ is defined as

$$[a]_{\kappa} = \prod_{i=1}^m (a - i + 1)_{k_i}, \tag{10}$$

with $(a)_0 = 1$ and $(a)_k = a(a + 1) \cdots (a + k - 1) = (a)_{k-1}(a + k - 1)$. Using (8) and (10), the relationship between $C_{\kappa_i}(I_m)$ and $C_{\kappa}(I_m)$ is obtained as

$$\tilde{C}_{\kappa_i}(I_m) = \frac{m + k_i - i + 1}{k + 1} \left[\frac{\chi_{[\kappa_i]}(1)}{\chi_{[\kappa]}(1)} \right]^2 \tilde{C}_{\kappa}(I_m). \tag{11}$$

Now, substitution of (11) in (6) and (7) yields

$$\sum_i \binom{\kappa_i}{\kappa} (m + k_i - i + 1) [\chi_{[\kappa_i]}(1)]^2 = m(k + 1)^2 [\chi_{[\kappa]}(1)]^2 \tag{12}$$

and

$$\sum_i \binom{\kappa_i}{\kappa} (k_i - i + 1)(m + k_i - i + 1) [\chi_{[\kappa_i]}(1)]^2 = k(k + 1)^2 [\chi_{[\kappa]}(1)]^2. \tag{13}$$

Note that in (12) and (13) there is no longer any restriction on the number of nonzero parts of the partition κ and the summation is taken over all i such that κ_i is admissible. Now, since $\tilde{C}_\kappa(X) \equiv 0$ for any partition κ of k into more than m nonzero parts, it is clear from (1) that $\binom{\lambda}{\kappa}$ can be defined for partitions into any number of parts, and hence can be regarded as independent of m , so equating the constant terms in (12) or the coefficients of m in (13) both give

$$\sum_i \binom{\kappa_i}{\kappa} (k_i - i + 1) [\chi_{[\kappa_i]}(1)]^2 = 0. \tag{14}$$

Further, equating the coefficients of m on both the sides of (12) gives

$$\sum_i \binom{\kappa_i}{\kappa} [\chi_{[\kappa_i]}(1)]^2 = (k + 1)^2 [\chi_{[\kappa]}(1)]^2, \tag{15}$$

while equating the constant terms in (13) results

$$\sum_i \binom{\kappa_i}{\kappa} (k_i - i + 1)^2 [\chi_{[\kappa_i]}(1)]^2 = k(k + 1)^2 [\chi_{[\kappa]}(1)]^2. \tag{16}$$

If the partition κ is such that it gives rise to at most three admissible partitions κ_i , then solving the simultaneous equations (14), (15) and (16) gives formulas for the $\binom{\kappa_i}{\kappa}$. First we compute the generalized binomial coefficient $\binom{\kappa_i}{\kappa}$ for a partition having two nonzero parts.

Theorem 2.1. *Let $\kappa = (k - j, j)$, $k > 2j$, $j \neq 0$, so that $\kappa_1 = (k - j + 1, j)$, $\kappa_2 = (k - j, j + 1)$ and $\kappa_3 = (k - j, j, 1)$. Then, $\binom{\kappa_1}{\kappa} = (k - j + 2)(k - 2j + 1)/(k - 2j + 2)$, $\binom{\kappa_2}{\kappa} = (j + 1)(k - 2j + 1)/(k - 2j)$ and $\binom{\kappa_3}{\kappa} = (j + 1)(k - j + 2)/j(k - j + 1)$.*

Proof. Note that when $k = 2j$, the partition κ_2 is not admissible and thus $\binom{\kappa_2}{\kappa} = 0$. If $j = 0$, then κ_3 is not admissible and thus $\binom{\kappa_3}{\kappa} = 0$. For $k > 2j$,

$j \neq 0$, the partitions $\kappa_1, \kappa_2, \kappa_3$ are admissible and from (14), (15) and (16) we have the system of equations

$$\begin{aligned} (k - j)a_1y_1 + (j - 1)a_2y_2 + (-2)a_3y_3 &= 0, \\ a_1y_1 + a_2y_2 + a_3y_3 &= (k + 1)^2, \\ (k - j)^2a_1y_1 + (j - 1)^2a_2y_2 + (-2)^2a_3y_3 &= k(k + 1)^2, \end{aligned}$$

where $y_1 = \binom{\kappa_1}{\kappa}$, $y_2 = \binom{\kappa_2}{\kappa}$ and $y_3 = \binom{\kappa_3}{\kappa}$. Further, using (9), a_1, a_2 and a_3 are obtained as $a_1 = [(k + 1)(k - 2j + 2)/(k - j + 2)(k - 2j + 1)]^2$, $a_2 = [(k + 1)(k - 2j)/(k - 2j + 1)(j + 1)]^2$ and $a_3 = [(k + 1)(k - j + 1)j/(k - j + 2)(j + 1)]^2$, respectively. Solving the above system we arrive at the required result. \square

Next, we compute the generalized binomial coefficient $\binom{\kappa_i}{\kappa}$ for a partition having $j + 1$ nonzero parts.

Theorem 2.2. *Let $\kappa = (k - j, 1^j)$, $k - j > 1$, so that $\kappa_1 = (k - j + 1, 1^j)$, $\kappa_2 = (k - j, 2, 1^{j-1})$ and $\kappa_{j+2} = (k - j, 1^{j+1})$. Then $\binom{\kappa_1}{\kappa} = (k + 1)(k - j)/k$, $\binom{\kappa_2}{\kappa} = (j + 1)(k - j)/j(k - j - 1)$ and $\binom{\kappa_{j+2}}{\kappa} = (j + 1)(k + 1)/k$.*

Proof. Note that when $j = 1$ the above theorem reduces to the Theorem 2.1. When $k - j = 1$, the partition κ_2 is not admissible and hence $\binom{\kappa_2}{\kappa} = 0$. For $k - j > 1$, the partition $\kappa_1, \kappa_2, \kappa_{j+2}$ are admissible and we have the system of equations

$$\begin{aligned} (k - j)b_1y_1 + (-j - 1)b_3y_3 &= 0, \\ b_1y_1 + b_2y_2 + b_3y_3 &= (k + 1)^2, \\ (k - j)^2b_1y_1 + (-j - 1)^2b_3y_3 &= k(k + 1)^2, \end{aligned}$$

where $y_1 = \binom{\kappa_1}{\kappa}$, $y_2 = \binom{\kappa_2}{\kappa}$, $y_3 = \binom{\kappa_{j+2}}{\kappa}$, $b_1 = [k/(k - j)]^2$, $b_2 = [(k - j - 1)(k + 1)j/(k - j)(j + 1)]^2$ and $b_3 = [k/(j + 1)]^2$. Solving the above system we get the desired result. \square

Next, we give certain results which are used in generalizing the above two theorems.

Theorem 2.3. *If κ and λ are partitions of k and l , respectively ($k < l$), then*

$$\sum_i \binom{\lambda}{\kappa_i} \binom{\kappa_i}{\kappa} = (l - k) \binom{\lambda}{\kappa}. \tag{17}$$

Proof. Replacing X and κ by $I_m + R$ and λ in (2), we have

$$\sum_{i=1}^m (1 + r_i) \frac{\partial}{\partial r_i} \tilde{C}_\lambda(I_m + R) = l \tilde{C}_\lambda(I_m + R), \tag{18}$$

where r_1, \dots, r_m are the latent roots of the matrix R . Substituting the complex binomial expansion of $\tilde{C}_\lambda(I_m + R)$ given by (1) in (18) and using (3), we obtain

$$\begin{aligned} \sum_{k=0}^l \sum_{\kappa} \binom{\lambda}{\kappa} \sum_{i=1}^m \binom{\kappa}{\kappa^{(i)}} \frac{\tilde{C}_{\kappa^{(i)}}(R)}{\tilde{C}_{\kappa^{(i)}}(I_m)} + \sum_{k=0}^l \sum_{\kappa} \binom{\lambda}{\kappa} k \frac{\tilde{C}_\kappa(R)}{\tilde{C}_\kappa(I_m)} \\ = l \sum_{k=0}^l \sum_{\kappa} \binom{\lambda}{\kappa} \frac{\tilde{C}_\kappa(R)}{\tilde{C}_\kappa(I_m)}, \end{aligned}$$

where the summation is taken over all i such that $\kappa^{(i)}$ is admissible. Finally, equating the coefficients of $\tilde{C}_\kappa(R)/\tilde{C}_\kappa(I_m)$ in the above equation, we obtain the desired result. \square

Some important consequences of the above theorem are given below.

Corollary 2.3.1. *Let $\kappa = (k - j, j)$ be a partition of k , $\sigma = (k - j + s, j)$ and $\rho = (k - j, j + s)$ be partitions of $k + s$. Then, for any integer $s \geq 1$, $\binom{\sigma}{\kappa} = \binom{\sigma}{\kappa_1} \binom{\kappa_1}{\kappa} / s$ and $\binom{\rho}{\kappa} = \binom{\rho}{\kappa_2} \binom{\kappa_2}{\kappa} / s$.*

Proof. To prove the first part we use the fact that if $\sigma = (s_1, s_2, \dots)$ and $\kappa = (k_1, k_2, \dots)$ are partitions of s and $k (\leq s)$, respectively, then $\binom{\sigma}{\kappa} = 0$ if $s_i < k_i$ for any $i = 1, 2, \dots$. Thus, applying this property to (17) it is easy to see $\sum_{i \neq 1} \binom{\sigma}{\kappa_i} \binom{\kappa_i}{\kappa} = 0$. Hence the required result follows. The second part can be proved similarly. \square

Corollary 2.3.2. *Let $\kappa = (k - j, 1^j)$ be a partition of k , $\sigma = (k - j + s, 1^j)$ and $\rho = (k - j, 1^{j+s})$ be partitions of $k + s$. Then, for any integer $s \geq 1$, $\binom{\sigma}{\kappa} = \binom{\sigma}{\kappa_1} \binom{\kappa_1}{\kappa} / s$ and $\binom{\rho}{\kappa} = \binom{\rho}{\kappa_{j+2}} \binom{\kappa_{j+2}}{\kappa} / s$.*

Now, we can generalize Theorem 2.1 and Theorem 2.2 as follows.

Theorem 2.4. *Let $\kappa = (k - j, j)$, and $\sigma = (k - j + s, j)$ be partitions of k and $k + s$, respectively. Then, for any integer $s \geq 1$,*

$$\binom{\sigma}{\kappa} = \frac{1}{s!} \prod_{i=1}^s \frac{(k - j + 1 + i)(k - 2j + i)}{k - 2j + 1 + i}.$$

Proof. Using Corollary 2.3.1, it is straightforward to see that $\binom{\sigma}{\kappa} = (s!)^{-1} \prod_{i=1}^s \binom{(k-j+i, j)}{(k-j+i-1, j)}$. Further, Theorem 2.1 gives $\binom{(k-j+i, j)}{(k-j+i-1, j)} = (k-j+i+1)/(k-2j+i)/(k-2j+i+1)$. \square

Theorem 2.5. *Let $\kappa = (k-j, j)$ and $\rho = (k-j, j+s)$ be partitions of k and $k+s$, respectively. Then, for any integer $s \geq 1$,*

$$\binom{\rho}{\kappa} = \frac{1}{s!} \prod_{i=1}^s \frac{(j+i)(k-2j-i+2)}{(k-2j-i+1)}.$$

Theorem 2.6. *Let $\kappa = (k-j, 1^j)$ be a partition of k , $\sigma = (k-j+s, 1^j)$ and $\rho = (k-j, 1^{j+s})$ be partitions of $k+s$. Then, for any integer $s \geq 1$,*

$$\binom{\sigma}{\kappa} = \frac{1}{s!} \prod_{i=1}^s \frac{(k+i)(k+i-j-1)}{(k+i-1)} \quad \text{and} \quad \binom{\rho}{\kappa} = \frac{1}{s!} \prod_{i=1}^s \frac{(j+i)(k+i)}{(k+i-1)}.$$

Finally, it is clear that the system of equations (14), (15) and (16) can be used to get different sets of three general coefficients $\binom{\kappa_i}{\kappa}$. Further, a system having four equations can also be constructed and different sets of four general coefficients $\binom{\kappa_i}{\kappa}$ can be obtained. This can be achieved by considering (14), (15) and (16) together with a fourth equation which can be obtained by putting $X = I_m$ and substituting for $C_{\kappa_i}(I_m)$ from (11) in the equation (3.11) of Chikuse [1] and equating coefficients of m and the constant terms of the resulting equation.

Acknowledgments

This research work was supported by the Comité para el Desarrollo de la Investigación, Universidad de Antioquia research grant No. IN520CE.

References

- [1] Y. Chikuse, Partial differential equations for hypergeometric functions of complex arguments matrices and their applications, *Ann. Inst. Statist. Math.*, **28** (1976), 187-199.
- [2] A.G. Constantine, Some noncentral distribution problems in multivariate analysis, *Ann. Math. Statist.*, **34** (1963), 1270-1285.

- [3] R.H. Farrell, Calculation of complex zonal polynomials, In *Multivariate Analysis V* (Edited by P.R. Krishnaiah), North Holland, New York (1980), 301-320.
- [4] R.H. Farrell, *Multivariate Calculation: Use of the Continuous Groups*, Springer Series in Statistics, Springer-Verlag, New York (1985).
- [5] A.K. Gupta, D.K. Nagar, *Matrix Variate Distributions*, Chapman and Hall/CRC, Boca Raton (2000).
- [6] T. Hayakawa, On the distribution of latent roots of a complex Wishart matrix (non-central case), *Ann. Inst. Statist. Math.*, **24** (1972), 1-17.
- [7] T. Hayakawa, The asymptotic distributions of the statistics on the complex Gaussian distribution, *Ann. Inst. Statist. Math.*, **24** (1972), 231-244.
- [8] A.T. James, Distributions of matrix variates and latent roots derived from normal samples, *Ann. Math. Statist.*, **35** (1964), 475-501.
- [9] C.G. Khatri, On the moments of traces of two matrices in three situations for complex multivariate normal populations, *Sankhyā*, **A32** (1970), 65-80.
- [10] R.J. Muirhead, On the calculation of generalized binomial coefficients, *J. Multivariate Anal.*, **4** (1974), 341-346.
- [11] R.J. Muirhead, *Aspects of Multivariate Statistical Theory*, John Wiley and Sons, New York (1982).
- [12] P.J. Smith, H. Gao, A determinant representation for the distribution of a generalized quadratic form in complex normal vectors, *J. Multivariate Anal.*, **73**, No. 1 (2000), 41-54.
- [13] A. Takemura, *Zonal Polynomials*, Lecture Notes-Monograph Series, **4**, Institute of Mathematical Statistics, Hayward, California (1984).